Section 1: Fraction to Decimal

Convert each fraction into a decimal. Show all work.
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Section 2: Decimal to Fraction

Convert each decimal into a fraction. Simplify if posslb[e
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Section 3: Exact Roots
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Section 4: Estimating Roots
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Find each root. SWfor each one. (Don’t erase your “guesses” that don’t work!)
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For 14 — 16, all answers in a reasonable range will be accepted.
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Section 5: Solving equations with exponents
Solve each equation. (That means find all possible solutions!)

19) x3 = 125 20)x2 = —4 21) x3 = —1000 22)x* =121
-10--10--10=-{0vo
= ) el
Nty t;"fe\?’w - ¥A OH5W5!

Section 6: Rational or Irrational
For each problem, state whether it is rational or irrational, and explain why.
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Section 7: Comparing Values

29) Put these values in order from least to greatest. Then explain, in words, how you put them in order. You must
mention each of the six values in your explanation.
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